% exp2_2.m - FAELME TR F(X) = 0 BUERAR 4 fsolve
% [V J71%] X =fsolve(F,X0)

% XHF RAERE(HE ), X0 SEIEAHIME (&)
% [{£] Bt R I TTER A, BRI R — 4R 3%

function study_fsolve

% T X BA— M85~ 6 B A 7 2%
% : KN R R R

% 7x"3-10x-1-y =0

% 8y"3-11y-1+x =0

% TR TR AT DA 0 2 pR B, T DAOE A PR AR AR R BT B (A HA 2 FR 52 )

clf % 5B

X =-1.5:0.01:1.5; % B, DK 0.01,3X = F v
yl=7*x.A3-10*x - 1; % H— NI FER KL, R TR s B e B A AL
FHAFEFAHT T

y2 = -8*x.A3 + 11*x + 1; % AN RESREREUE, R IX B H AR RS RO R )
plot(x,y1,y2,x) % fFE IS E AR RS ROk

grid on

axis([-4 6 -6 4]) % PR AL FR S BAATR )76 ] i B AN 2R A
B G VE

% I AEEIRKIAE (0,-1) BHEA— MR, fsolve SKEEAEHA I
clc
X0 = [0,-1]; % HIME
X = fsolve(@myfun,X0)
% ---nnmmmmmev TESCREAH myfun e
function F = myfun(X)
F = [7*X(1)A3-10*X(1)-1-X(2);
8*X(2)A3-11*X(2)-1+X(1)];
% [VE] XH F BAURSI N E;
%

0f *H Kok kK k ,fﬁ;ﬁ/qggﬁ sk % 5k % 5k % k %

% X P36 i 18 WilfF I EAR UL ME, 5 H fsolve iy < 3K KA (1%



